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SAMPLE PAPER (2013)

CLASS – X

Subject: Science
------------------------------------------------------------------------------------------------------------------------------------

General Instructions: 

 1. The question paper comprises of two sections A and B. You are to attempt both the sections.
 2. All questions are compulsory.
 3. There is no overall choice. However internal choice has been provided in all the three questions of five marks category. Only one option        

     in such questions is to be attempted.
4. Questions 1 to 4 in section    A  are short questions. These carry one mark each.
5. Questions 5 to 13 in section  A are short answer type questions and carry two marks each. 

6. Questions 14 to 22 in section A are also short answer type questions and carry three marks each.
7. Questions 23 to 25 in section A are long answer type questions and carry five marks each.
8. Questions 26 to 41 in section B are  Multiple answer type questions and carry one  mark each.
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------                                                                                                         

                                                                                                SECTION  ‘A’

Q.1
  A person is advised to wear spectacles with convex lenses. What type of defect of vision is he suffering from? 
Q.2
  What property does all the elements in the same column of the periodic table as boron have in common?
Q.3
  A cow looses a lot of weight due to starvation? Will this character be transmitted as an inherited trait? Justify
Q.4
 Refractive index of water is 4/3 & that of the glass is 3/2 with regard to air. What is refractive index of glass with respect to water?
Q.5
 You are feeling cold while sitting in your room. What would you prefer to do: wearing an extra sweater or using a heating device    

             (electric heater or angithi)? Justify.
Q.6
Redraw the following ray diagram. State the image characteristics. 
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Q.7
 Draw the electron dot structure of cyclopentane. With which homologous series does cyclopentane share its general formula? 
Q.8
 Name any 2 stakeholders of forests. Explain why they are called so? 
Q.9       Nitrogen (at. No. 7) and Phosphorus (at. No. 15) belong to group 15 of the Periodic Table. Write the electronic configuration of     

             these two elements and decide which of  these two elements will be more electronegative and why?
Q.10      A potato is cut into a number of small pieces. These pieces are placed on wet cotton kept in a tray. After a few days, green shoots  

              and coots appear only from some potato pieces and not from all why?
Q.11     Explain the cause and formation of rainbow with the help of a diagram. 
Q.12    a) If 5000 KJ energy is received by produces in a food chain. Calculate the energy obtained by the consumers of tropic level IV.

             b) Why should we conserve forests and wild life?
Q.13     a. What is genetics? 

              b. Give the common name of plant on which Mendel performed his experiments. 
              c. What for did Mendel use the term factors and what are these factors called now. 
              d. What are genes? Where are the genes located?

Q.14     (a) An element ‘X’ is in second period & group 16 of the periodic table:

                 (i) Is it metal or non-metal?
                (ii) What is its valency?
                (iii) What will be the formula of compound of ‘X’ with Na?

                (iv) What is the name of the element?
            (b) How does  atomic size  of an element vary on moving from?
                  1) Left to right in a period. 
                  2) Bottom to top in a group.
Q.15     An object 4 cm high is placed at a distance of 10 cm from a convex lens of focal length 20 cm.
             (a) Draw ray diagram for formation of the image; 
             (b) Find the position, nature and size of the image.
Q.16     (a) How is the process of binary fission different from budding ?    

             (b) What is grafting ?
             (c) List two advantages of vegetative propagation. 
Q.17     The image obtained with a convex lens is erect and its length is 4 times the length of the object. If the focal length of  the lens is 20    

             cm.      (i) calculate the object and image distances.           (ii) Find the size of image .

Q.18     Complete the following equations and write the names of products so formed:

              (a) CH3COOH +NaHCO3 ——------->-


 Alk. KMnO4

              (b) C2H5OH+O2 -------------------------> 
                                           
                      Con.H2SO4
              (c) CH3COOH+C2H5OH     ————————->
              (d) CH3COOC2H5 + NaO H -------------------------->
Q.19     (a) Name the group of bacteria found in our intestine, what does the presence of these bacteria in water indicate.

             (b) Give two problems created by the construction of dams.

Q.20     (a) Where are the testes is located in Human male and why?

             (b) Name the hormone secreted by the testis

             (c) What is the role of seminal vesicle and prostrate gland in human male?

Q.21     (a)  An organic compound ‘X’ sometimes used as an Antifreeze, has the molecular formula C2 H6O ‘X’ on oxidation gives a   

                   compound ‘Y’ which gives effervescence with Baking power solution.

                  (i) Identify ‘X’ and ‘Y’.

                 (ii) Write the chemical equation involved in the conversion of ‘X’ into ‘Y’.

                 (iii) What happens when---

                        (i) ‘X’ undergoes dehydration.

                        (ii) Unsaturated hydrocarbons are subjected to hydrogenation.)

                                                                     OR

             (a) What is a homologous series?

             (b) Write the structural formulae and IUPAC names of the single and double  branched isomers of C5H12.

             (c) (a) Write the names of the compounds: (i) CH3–CH2–Br (ii) CH3–CH2–CH2–CH2–CH=CH2
                  (b) A mixture of oxygen & ethyne is burnt for welding. Why do you think a mixture of ethyne & air is not used?

Q.22   The following table shows the position of six elements A, B, C, D, E and F in the periodic table.  Using the above table answer the   

            following questions :

           (a) Which element will form only covalent compunds?

           (b) Which element is a metal with valency 2?

           (c) Which element is a non-metal with valency of 3?

           (d) Out of D and E, which one has a bigger atomic radius and why?

           (e) Write a common name for the family of elements C and F.
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Q.23
(i)
Write the common name of ethanol.
                (ii)
Name two substances in which ethanol is an important constituent.
               (iii)
What happens (Give chemical equation) when sodium reacts with ethanol?
               (iv)
What happens (Give chemical equation) when ethanol is heated at 443K with excess of concentrated sulphuric acid?
               (v)
Why is the conversion of ethanol to ethanoic acid an oxidation reaction?
                                                                                     Or   

              (a)               Explain the cleansing action of soaps?
              (b)              What is hydrogenation? What is its industrial application?
              (c)               What type of fatty acids are considered to be healthy and why?
Q.24     (a) What are the characteristics of the image formed by the concave lens of focal length 30cm, when the object is 10cm away from   

                   it? What will be the power of this lens?

             (b) Give the labeled diagram to show the correction of image formation in a hypemetropic eye. What is the far point of such an 
                   eye?                                      

                                                                          OR

             (a) Light enter from air to diamond, which has a refractive index2.42. What is the speed of light in diamond?

             (b) The refractive index of materials P and Q is 1.66 and 0.95 respectively. In which medium will the angle of refraction be lass   

                   than the angle of incidence? 
             (c). Explain why and when the sun is overhead at noon it appears white.
Q.25    (a) Draw the diagram showing the germination of pollen on the stigma. Label style, male germ cell, ovule and female germ cell.

            (b) What happens to the following parts of a flower after fertilization:

                    (i) Ovule           (ii) Zygote       (iii) Ovary

             (c)  Name the following structures:   a. Primary sex organs in man and women.
                                                                           b. Reproductive parts of a flower. 

                                                                           c. A barrier method of birth control used by human.
                                                       Section – B

26. A reproduction by single organism without the production of gametes is known as:

(a) Asexual reproduction              (b) Both                (c) Bisexual reproduction                                                (d) none of these

27. A slide showing several amoebae was given to a student and was asked to focus the amoeba undergoing binary fission. What will the student look for to correctly focus on a dividing amoeba?

(a) An amoeba with elongated nucleus and a constriction in the middle       (b) An amoeba covered by a cyst and many nuclei

(c) A rounded amoeba with rounded nucleus                                                  (d) An amoeba with many pseudopodia and a small nucleus

28. A student obtains a blurred image of an object on a screen by using a concave mirror. In order to obtain a sharp image on the screen, he will have to shift the mirror:

(a) to a position very far away from the screen     (b) either towards or away from the screen depending upon the position of the object

(c) away from the screen          (d) towards the screen

29. Out of the following, the best way to do the experiment on finding the focal length of a concave mirror by obtaining the image of a distant object is to:

(a) keep both the mirror and the screen in suitable stands with the screen put behind the mirror

(b) keep both the mirror and screen in suitable stands with the screen put in front of the mirror.

(c) hold the mirror in hand and keep the screen in a stand kept behind the mirror

(d) hold the mirror in a stand and hold the screen in hand, with the screen in front of the mirror

30. In the determination of percentage of water absorbed by raisins, raisins should be soaked in water for:

(a) Overnight              (b) 5 to 10 hrs         (c) 1 to 3 hrs          (d) 2 to 5 hrs

31. What are the types of osmosis?

(a) Osmosis and endosmosis   (b) Endosmosis and exosmosis    (c) Osmosis and reosmosis  (d) Osmosis and exosmosis

32. Refraction cannot cause bending as light moves one surface to another if the incident and refraction angles I and r are related as:

          (a) i= r = 900                         (b) i= r = 0                                    (c) i – 900 , r = 00                    (d) i ≠ r = 0

33. Which of the following can be used to find focal length of a lens?

(a) Light from sun                                             (b) Light from a distant tree
 (c) Light from window of our lab.                   d) Object at a distance of 10 cm for a focal length of 30 cm.

34. The odour of ethanoic acid resembles with:

(a) Kerosene            (b) Oragne juice         (c) Vinegar        (d) Tomato juice

35. Acetic acid, when dissolved in water, it dissociates into ions reversibly because it is a:

(a) strong base          (b) weak base        (c) strong acid        (d) weak acid

36. 10 ml of freshly prepared iron sulphate solution was taken in each of four test tubes. Strips of copper, iron, zink and aluminium were introduced, each metal in a different test tube. A black residue was obtained in two of them. The right pair of metals forming the precipitates is:

(a) zinc and aluminium         (b) iron and aluminium       (c) copper and zinc                                              (d) aluminium and copper

37. Swelling of any raisins indicate that:

(a) external solution is hypotonic       (b) skin of raisins is impermeable    (c) external solution is hypertonic  (d) external solution is isotonic

38. When you place iron in copper sulphate solution, the reddish brown coating formed on the nail is:

(a) rough and granular     (b) Hard and flaky       (c) smooth and shining     (d) soft and dull

39.  To determine the focal length of a concave mirror, a student focuses a distant object using the concave mirror. The best object can be:

   (a) Sun       (b) A distant tree         (c) Classroom window        (d) All of these

40. 2 ml of acetic acid was added in drops to 5 ml of water it was noticed that:

(a) a clear and homogenous solution was formed                     (b) A pink and clear solution was formed

(c) water formed a separate layer on the top of water
    (d) the acid formed a separate layer on the top of water

41. To find focal length it is advisable to:

(a) Wooden bench holding the lens should be fixed horizontally         (b) Fix lens in a stand vertically  

(c) The screen should be arranged slanted                                              (d) Both (A) and
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